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. if the equation 

ends the sentence

The general classification model seeks 
to minimize  

m

∑
i=1

e(ψi) .

Adapted from [1].

, if the equation ends

an introductory clause

, if nonrestrictive* info follows 

,
independent clauses

that connects two 

if before a FANBOYS**

By defining  

and observing the fact that a correct 
classification takes on the property 

we can… 

ψi = yi(a1xi1 + a2xi2 + … + anxin + α)

ψ i > 0,

Adapted from [1].

It is updated recursively following the 
update rule 

where    is the prior probability 
density… 

p̄

p(tk, rk) =
1
C

Lk (sk)p̄(tk−1, sk−1),

Adapted from [3]. 

We can define an error function by 

so the general classification model seeks 
to minimize  

m

∑
i=1

e(ψi) .

Adapted from [1].

e(ψi) = {1 if ψi ≤ 0 and
0 otherwise,

* see our resources page for more info on nonrestrictive commas:  
https://nps.edu/web/gwc/commas-non-essential-elements  

** FANBOYS = for, and, nor, but, or, yet, so 
https://nps.edu/web/gwc/commas-fanboys 

The problem is then to determine if the 
following system (denoted (VC) for vertex 
color) has a feasible solution: 

xik + xjk ⩽ 1 ∀(i, j) ∈ E, k = 1,…, K

∑
k

xik = 1 ∀i ∈ V

xik ∈ {0, 1} ∀i ∈ V, k = 1,…, K .

[2]

: if the equation follows 

a complete sentence


